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Verbal Reasoning
Find missing the letter

Q @ ¢ it

c

e

(

gﬂ@c@@fﬁ

Odd number

of lines

™~

fee (?) ime cur (?) ard

() s
Oy
QA
() d
(Ot

boo (?)ind ban (?)ing

TN
[ A
)
LV
lea (?) ews rai (?) one

O p
(O f
SN
() s
«'n

Move a letter

grown dew

now

glade pin
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Hidden 4 Letter Word

Thekes no profit.
Heajoys playing tennis.
Nana kep@ging me.

Jakub turned his phdne on

ins sboelace was untied.
My teacher wn by a bear.

Word Connections

Flower is to (bee fragranc as tree is to climb green).

King is to (crown castle(Erincei\ as queen is to (frog fairy).
Winter is to (cold Christmas) as summer is to (beach school@
Read is to (calendar future as watch is to @clock wrist).

Frog is to croak green) as sparrow is to (garden feather @

First is to (win cheer as third is to (next silver).

Word pairs
tool lot term met pail (?)|need Clj'_eﬂl dial I.I:'?.l P{i‘.St I(:) :
() alp () sap P
) ail (O spa
Q lap O pat
() pal (ytap
) lip () sat
complete mole comprise more catalyse (?)
325 315 31 >
() teal tlal
(V tale
() late
() lets
() teas
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English - Vocabulary

Underline the correct homophone to complete the sentence.

Example: Archie tied a strong in the ship’s rigging. (knot not)
1. The Prime Minister’s responded to my letter. (aid

2. The manager the whole project. overseas)
3. Customer numbers at Kaitlyn’s café . (sword

4. The narrow runs between two oceans. (straight
5. Taj’s research offers an into pets’ behaviour. incite)

Select the most appropriate word from the table to complete each sentence
below. Write the word on the corresponding line. Use each word once.

| multiple I merit l prolific I expense I alias |

6. Charles Dickens was a_P (9| (& writer of novels and essays.

7. Many people borrow books from libraries to reduce the wQ

8. My best friend’s writing has considerable Mey it .
9. Research has shown that reading has rmy | '|'.| p LRhealth benefits.

10. Charlotte Bronté wrote under theﬂ\l 1 b ‘Currer Bell’,

Underline two words, one from each set of brackets, that have the most
similar meaning.

Example: (plate bowl cup) (fork mug whisk)

11. (disarray Mr ailment) (plight  filth  seclusion) Dirty

12. (reflective  observant prudent) (proficient &sive fanciful) Thoughtful
13. (diverge corroborate surmise) (w proclaim consent) Confirm
14. (tenuous  scrupulous providential) (prosperous  virtuous fortuitous) | By chance
15. (EM discretion acclaim) (flair rapture zeal) Ability

Choose the word that has a similar meaning to the words in both sets of brackets.
Underline your answer.

Example: (twig branch) (fasten attach) glue stick trunk affix bough

16. (appearance arrival) (rivet bewitch) stun entry grip entrance approach

17. (conceive devise) (emerge issue) contrive surface brew arrive hatch

18. (ignore  disregard) (reduce slash) refund discount hack dismiss reject

19. (opportunity room) (range reach) width span chance scope freedom
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Maths — Number
What is 75 644 rounded to the nearest hundred?

() a) 75640
() b) 76000
() ¢ 75700

() d) 80000

®/ e) 75600

In which of the numbers below is the value of the 3 greater than the value of the 97

() a) 417893
() b) 903051
() ¢ 593218

@/ d) 457395

() e) 494.321

What is the sum of the only two prime numbers between 50 and 607

53,
CERY <9

() b) 118
() ¢ 109
() d 15
() e 101

Siobhan starts at 50 and counts back in steps of 12.

Which of these numbers will she count?

(9/3)2

=
A

M
a
-
N~
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Seven friends share £154.28 equally amongst themselves.

How much does each friend get?

() a) £21 O"Lq-'Qlf

() b) £20 = \|'l§'|+ Rl
() ¢ £2140
@/d) £22.04
() e) £2043
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A farmer has 100 sacks of grain. Each sack of grain fills 10 bags, which sell for £2.30 each.

How much money can the farmer sell all his grain for?

~__~

() a) £23000
&

c) £230 000
ON)
O e

£2300

29X | 0 6~1

£230

£2 300 000

IOX .40 = 2D

R b0

Emmanuel has 832 stickers. He wants to arrange them into folders. There are 30 sleeves in a folder, and each sleeve can hold 7 stickers.

How many folders will Emmanuel need to display his stickers?

A0KRT =
@YY = 2ok

LU0 440

L0
C30

gL 0

A skateboard costs £29.78. Gina has £15.95.

How much more money does Gina need to buy the skateboard?

() a) £15.43 2% _l 9
() b) £13.95 -\ S - U\ )
() ¢ £1435

N d) £13.83 l 3 ﬂ 3

£14.03




